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9@ 6410 X @ 6RIEIQ 200 pm Q80 RNECHLR AR (bec) QLR AT | 6AIRAR URQ 6228
5gem 21300 g @ 92 66170 X 6@ 2080 daslg Qe 6208 |

QR : YERIGIEEIF FQIw, N, =6.0 X102 mol L.

Question:

A SNA
B 6NA
C 15 N,
D 25N,
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ItemCode: 101532
4p @E@EQ & Ql@ﬁllﬂ 62l% 9°GHI 9Q° dFlg 6XILa L°siHio ¢]mi 6RRR 191N

Question:
Al 2.MQ"3
Bl 2.MQ"2
C 34994
D 49e°4
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ItemCode:101533
298 K68 A, B, C 9e° D @ 6iIq 9@ dIRl 6269w 800 8ale (Ky) @ 9nigee 6298 daIged

30.40, 2.34, 1.56 107> 9@° 0.513 k bar | Q2IQIRAS| EAHFGER TLE €& P’ Me° ‘s’ ARQL
6269 LaNREH :

P

\9\

e ——

(k bar)—>»

Partial Pressure

* H,O 5

Question:

A AN C
B Bwe® A
C Dye* A
D Cye°D
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ItemCode:101534
QURIeCE 9oaal

% - - 3 3 3 5
2A(g) = 2B(g) +C(g) alal AICHIAI TaIe 6208 K, 1 gogal SA(g) = 5B + 1 Clg) am

6268 K, |

K, 99° K, 666Q Q¢a 6208

Question:

A K; = JKz
’ K, =K

C %= Ki./:}

P K =Kk¥*
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ItemCode:101535
Q160 QUILIRYR ANERIY 0, AIAVRR ORI ArIg 6890 pH RU6R FEQ A6Q ?

Question:

A Pt|Fe3t, Fe2+
MnO,; |[Mn2*
€ Ag|AgCl|Cl™

D
1 _
—F |F
B
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ItemCode:101536
RERY, R 697 RINT (§g2iae gai) @ A0K 99 6298 :

Question:
A O0O>5>Se>Te
B 0O<S<Se<Te
C 0O<S5>Se>Te
D O0<S>Se<«<Te
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MgO 909 il 966 g8aa 2Mg+0, — 2MgO 62 AG® 80862 T Q 6R¢I9g Q19 98 cagIde ?
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ItemCode:101538

QIR I § eIRel II 96 A |

QIR I

(a) €GN LALING,
(b) deae

() QNI 2RLING.
(d) 2RFF9 ARG
A0K 6208 :

i), (b)-(iii), (c)~(iv), (d)-(i)
ii), (b)-(iv), (c)-(iii), (d)-(1)
iii), (b)-(ii), (c)-(i), (d)-(iv)
i), (b)-(iii), (c)-(iv), (d)-(ii)
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ItemCode:101539
QIQ1g dIg 29196, 9@ F996q A0R AT 62a8

Question:
A 606019100, 969 QR
P qoe 2gIRegée 299neIo
€ 2QIRegRe A39RR1S

P 6060I9I00GFR ANG AFIR I QYA
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ItemCode:101540

573 K heat ; 803 K
A ——— Red phosphorus —Jmder pressure

“A” @ 573 K 66 209 @6R 60@0daad fem 1e° 9Id geaia @ 803 K 60 269 @@ 92l “B” @
QUIete 29 | A e° B 62988 QalIged :

Question:
A B-apl IQTEQ 9e° AR CATQY
B @I gQaeQ ¥e° B-9Rl aaeq
C o Qe IQIQ 9e° 4RI FYTRd

D Nl IR 99° -8R TQTR
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BaCl, @04 QB0 dal 2Q6A0 cQ@eel 60130 @9 AgNO, 986 Q6%, Q 99 6948 :

Question:
A [Co(NHy); Br] SO,
B [Co(NH,)5 SO,] Br
C [Pt(NH,), CL,] Br,

P [P{NH,), Br,] Cl,
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ItemCode:101542
Question: RYS AAVTRYPR Q) 6966 RGIF UM AT FRR AR NLVR ARILING ?
A 660G 6QIURNYR

B eae CO,

C @lFIM

b H202
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ItemCode: 101543
(A, B, C) 86915 24112 &9l 9@ (g, daal cang 90 giedl Q6o 1e2ia 98 TLC Q64369 R,

-l

gy ARRl, A aR =0.72 , B digl =0.48 9e° C dia =0.20 | RU6AIS AdI6AE FTAER QEQ
6R% 288 Qeda 22 FdeRR! Al 0K 6L ?

Question:

A A QQOIg 6241 21D AR

B C 62608 990Iq 6241 @618 QIR

€ A geeq FaIR0 629, 9% JaR 690G 22 Fd6RYRIER TR JIedl QISR MR FQUAN |

P C 6208 Q901g 6941 62106 268ITe AR |
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ItemCode:101544
@ Ao 9EFAUQ Aoleq 7Y,
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NoH (i) RedP,Cly
(i) HO Major Product

Qe P g TI2 |

Question:
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ItemCode:101545
60Q 9oaaIE AR QF oIf QI8 |

Question:

A X

O/ +2Na Ether

B Cl
+NaOH _ (A
(11 ) HC1
NO,

¢ CH,CHO CH,COO~

+ [Ag (NHy)]* +OH- __ A | @

b CHO COO~

5 =
+ Cust+0H > @
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ORYS I 6996 ARSI JERAITR I QUL 629 ?
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(i) 10% KOH

CO,H
(i) HyO +

Question:
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i) HyS0,, (6R29) A
A+ CH3CH,0OH ——> O() 250 ( ) > B

(i) NaOH "
(iii) HCI

gogaIa 2Aeantq Golaq 32 | 2°6 A 4e° 2°¢ B @ 9912 |

Question:

A cl
A=C/H.NH, B=

B OH
A =CgH5N;Cl™ B=

¢ cl
A= B=C,H.NH,

D OH

A= B=CHsN;Cl™
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QIR I § eIRel II 496 A |

elaal 1 eIae! II
QLRR gealea 9ee (g98e)
Cl
(a) NGRS (i) 'GCHZ—(I::CH—CHz')'n
(b) @6ER i) €CHy—CHJp
et
() JRVRAR (iii) <CHp—CH¥p
N
CN
(d) Q@I -9 (iv) -{-CHz—CH=CH—CH2—CH2—CIH3-n
Question: Qea QLIRS Aag (ki A0R 6ARRT] QI8 |
A (a)-(ii), (b)-(iv), (o)-(ii), (d)-@)
P (@)-(id), (b)-(i), (c)-(1), (d)-(iv)
€ (a)-(iii), (b)-(), (9)-(id), (d)-(iv)
P (a)~(ii), (b)-(idi), (c)-(i), (d)-(iv)
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@9ad (DNA) @ a¢d 99 29969 J60 IR 62R2Q! JaqId 6208 :
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A 99 ca6cale daal

4@ 62691 §9al

€ 9@ gRaReIRe
D 4R QIRARANR
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gedio 608R 6qIRING, 2GR INee 29 FAIGET FYAYS 2198 N9° FAUNRIRR @ Q0dE fIFal

e :

Question:

A ARTIRG 2I9R Ne° IneaIeha, —OH ge

? @666 Age 9 caena —OH g4



€ anaIRe 2198 9e° 6aefa —OH ge

P w8eee 2I9q 99 AlReaIeaa —OH gq
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AR AFING AP0 QUK ARTIRR &) JoR

2Cu,0 +Cu,S — 6Cu +50,

QoI QU0 RIS QDG 24 | 6Q60696R 2.86 X 10° g Cu,O 4e° 477 x10° g Cu,S @ 946G aIe
QRLIQ KLY, QUGS QTR 9] 6908 | (Feeen gedacal)

AIeIede @gq :Cu=63.5am. u
5=320am. u
0=16.0 am. u)

Question:

Q:82
Topic Name:Chemistry-Section B
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FRYe AIQ ARSI 676 Y671Q) AIGE AR AGFFTAQ A°El 629

NF,, BF,, BeF,, CHCl,, H,S, SiF,, CCl,, PFs
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ItemCode:101553
1.0 69IR 9@ 9aeIgR 2I1ed G1IQq 298l 1q 298l 2 @ 9e6a @dionl 98 gAIRE AaldRl | 300 K

6a 2991 1 Q 29dl 2 q GUIYa gARE AR ARG RIdIa afIs 6298 I
(Facen gdassl)

(@@ : R=8.3J K~ ! mol~!, In10=2.3, log2=0.30)

6.0F----- State 1

P(bar) —>
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7
VL) —>
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ItemCode:101554

P > B 90@9 a1 2198gde A (T6Qf TIQ) 9e° @94 98 E, @ fmy 6298 Jaaed
4x10135-1 9g° 83k mol~1 | 98 gORAIT gaa RAQ 9 GIELEM FITFIQI 66 TR U
2x10-%s~1 @9, cead x10-1 K |

(@& : In 10=2.3, R=8.3 ] K~ mol~1, 1og2=0.30)
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ItemCode:101555
100 mL @ 0.3 M 4695 2q 0.8 g Q10 2FIQ 426 {dIa 29Nl | 9640 2Fa 9918 LS|

2RICHITE d6q 6288 0.125 M | IRglif] ATIRER 26dI8e careel 16d0R Aga @9q 62a8
x10"4 g |

(@8 : 9690 AFR 6AINIR @99 =60 g mol ~1)
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ItemCode:101556
Q6 89l QAT AFQ AGRER R (VINAR) @ FIQE LAY 62Q8 +

i 2+
[Fe(H,0)s]  + NO — [FeH20)5(NO) .y 0

Question Brown complex
uestion:
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ItemCode: 101557
K;[Fe(CN),] @ 6aeq @R AUI66e0R, 6716AS (1,) 6268 B.M. |

(Faceq gd adyiea 98de aa)
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ItemCode: 101558
51.6% ARTQ 8@l ¥R 6689 610 6RIRY AR16Q @8d ARG | 0.752 g 62060 ANETE, F0%

RQaAQ| 9@ cdldea FIgl 6298 s )
(@8 : 69047 ARNCTCR 6FINIR 9G] 233 g mol 1)

(Faceq g4 a°ayl)
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¥R 2IRERIRIGR X AR 2148a @9 6298 80 | 10.0 mg @ 6dd@a X' Q RANAQE F6R

8.40 mL H, ouIq ¢IRaid | (STP 6 AQIQIRg) 64130 ‘X' q B6RI6RIAIQ @6 6aen IR
G0 4e° QIR INRLIRe. G9 | 6dIde ‘X @ B6RIEAINAQ @cm Ageel AAe @ 8 9ee |
AGFeR A°Hdl 6208 |
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